KENDRIYA VIDYALAYA BHU VARANASI
MT-SEPTEMBER (2024) SUBIJECT: SOCIOLOGY CLASS- XII
Time: 90 Min M.M : 40
General Instructions : -
1. There are 20 questions in all. It is divided into 4 (A,B,C,D) sections.
2. All questions are compulsory.
3. Section-A question no. 1-10 are MCQ type questions. All question carrying 1 mark each.
Section-B includes question 11-16. These are short answer type questions carrying 2 marks each. Answer
to each question should be at least 50 words.
4. Section -Cincludes question 17-19. They are long answer type questions carrying 5 marks each. Answer to
each question should be at least 250 words.
5. Section- E includes questions 20. These question are divided into 3 (a,b,c ) parts. Question no 20 is to be
answered with the help of the passage given.

SECTION -A

Q.1 Raja Ram Mohan Roy was a -
(a)Scientist  (b) Author  (c)Economist (d) Social Reformer

ST A Algel [T Toh & -
A-33MMeTeh  B-oGh  C- YA D- HAST FURS
Q.2 According to the 2011 census, what is the following percentage of urban population in India?

a¥ 2011 &7 SR & AR HR H AR STAHear o1 giaerd @ & & fhaer & -
(@) 33.76% (b) 31.80% (c) 28.28% (d) 25.70%
Q.3 Who founded ‘aryasamaj’ ?

A- Dayanand Sarasvati B- Raja Ram Mohan Roy C- Vivekanand D- G.S. Ghurye
I FATS HT TAYAT fopder dT ?

A- EITele, TREICH B- XS AHAAIGS I C- [qdhIee D- FAGICAT et

Q.4 Who wrote the book Gulamgiri ?

A- Mahatma Gandhi B- B.R. Ambedkar C- M.N. Srinivas D- Jyotirao Phule
TATATY S qede fhaer forar -

A- FEICAT ANl B — .37 305 C- VAT ANard  D- SAITIa el

Q-5 Who was the father of Green Revolution in India?

(@) Norman Borlaug (b) M.S. Swaminathan (c) M.K. Gandhi (d) M.N. Srinivas
9Ra & gRa FIfd & s T T ?

A-STHST SIATIT B-UH. TH. TATHATY C-UA.F.3mely  p-ue. vt AfAara

Q-6 Who among the following is responsible for national integration?

(a) Communalism (b) Regionalism (c) Nationalism (d) Casteism

T & ¥ BT TSET vHaT F AT Icawer § -

A-TFYICIIAIG B- 819dlG,  C-Isgdle  D- Sifaarg

Q-7 What is the sex-ratio in India as per 2011 census?

aY¥ 2011 HT STANUEAT & TR HRA H & G 1 felanequre fovcar g2
A-923:1000, B- 933:1000 C- 943:1000 D- 953:1000

Q-8 Which of the following is related to Sharada Act -

(A)-Sati Pratha B- Child marriage C-Widow remarriage D- Jauhar Pratha
fAFAfaf@d & & URer Tae FFafad ¢ -

A- Tl 9UTB- STo-fdarg ¢ fatar geAfdarg D- Sitex wm

Q-9 What is the reason for the predominance of regionalism?




(a) Linguistic Love (b) Unbalanced economic development

(c) Social injustice and backwardness (d) All of above.
&1aIG & Yadl gl &l FIT HROT § -
A-NIT 9\ B-3r@dfd 3T fasrd C- @mAtioleh 3=arg Ud Uose D4 |l
Q.10 The measure of comparing the portion of a population which is composed of dependents with the
portion that is the working population is-
(a) Age structure (b) Dependency Ratio (c) Sex Ratio (d) Growth rate of population
SIAEEAT & g AR Hrdeier fEat i Jofer & U A9 @ A § -
A-STeTHEAT &1 Y EEAT B-RI3 31T C-EH1-9@Y 3e]ure] D-Soraear dqig aX
Section -B
Q-11 What do you understand by Cultural change??
FiEpich aREde ¥ 3T FAT TASA & ?
Q-12 What are the differences between modernisation and westernisation ?
smyfereratoer 3 aftesfiater 7 Fr 3w § 2
Q-13 What was impact of urbanisation on Independent India ?
BT I FIAT HRA W FAT JHEG g7 ?
Q-14- What do you understand by bhoodan movement ?
T JMealelel § 3T FAT FASIA &7
Q-15 What is colonialism? How has colonialism impacted our lives?
3qfiderdre &1 g7 3ufaderdrg & gAR Shdd W fhd Y I 9HTa 931 87
Q-16 What are the differences between Nation and State ? Explain in brief.
Tsg 3R ToT 7 &4 R g2 dféica # aAf=v |
Section- C
Q-17 What is meant by Cultural diversity ? Why is India considered to be a very diverse country ?
qiepiaen fafawdr & 39 a1 Faea €7 #Rd #1 T Hcdd fafavarqet o @&t Awer s § 2
Q-18 What is the contribution of social reformer in our society ? briefly mention the work of any three
social reformers.
WWﬁWWWHW@W%WW%WWWﬁW&?&
Q-19 What is Sanskritisation? What did the consequences of sanskritisation on our society?
FEHARIOT FAT §? AN FHTS T SHHT FAT TRUTH I3T1?
Section -D
Note — Read the passage given and answer following questions-

Q-20 The industrial revelation was based on capitalism, a new dynamic economicactivity. This was one of
the main forces behind the growth of industrialproduction. Capitalism included new attitudes and
institutions. Entrepreneurs were motivated by the hope of fixed and systematic profits. Markets
played a major rolein productive life. Played the role of means and goods services and labor became
commodities which were determined by the calculations of rational.
(a) What is Industrial revolution?
(b) What was the driving force behind the industrial revolution?
(c) What is the meaning of dynamic economic activity?

Note- feT 1T 3efede 1 U¢ 3R =M T 1T geafl & ek AfSw-

Q.20 3MeAfAE FHifd Tk Av afaeher e fhararg-geharg o 3mfRa & | 3w 3cag & 3efa &
A Tgr dohare sgaedr v yiqE Afad O geltare & i siffgfaat e deuw afFafad & 1 sege ARea
3R =gafeyd HATh HT IRM T IR T | TERT o ScUeAPRRT Sl H FoE ATereT Hr o{fHahr rer 1 AR A,
AU UF q&qU & I, foretenr fefRor arféhen aroremiaii & ant giar &1 (a) 3e@ifdre wifa #ar § 2

(b) 3w wifad & qS AT A afFd FA X @& O 2

(c) I1faefer 3nfde frarehena &7 T 31T & 2




